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B—E FIEBMEEER

1 MEREWITE
— gk
ARFRESRITEUAT LN EE:
sinx, cosx, tanx, %
sinh x, cosh x, tanh x B

—
= R
(HRRARFRS
X HEEM.
N mHBELE,
1
J >
3
P R RAISHTR g B
E
7
gin x
C0sS X
tan x
y= {ex
sin hx
cosh x
tan h x

LPH1—7AEEE

B, Wy IR x (E.

(2)H)ITBE N REEERT

Yo

= BF |
200 IF P<=3 GOTO 230
210 LET R=X%X
220 GOTO 240
230 LET R=-X%X
240 LET F=4% N+2
250 FOR I=N TO1STEP -1
260 LET F=4%I-2+R/F
270 NEXT I "

280 IF P<=3 GOTO 310

2900 LET N1=P-3

300 GOTO 320

310 LET Ni1=P+1

320 IF N1=1 GOTO 380

330 IF N1=2 GOTO 400

340 IF N1=3 GOTO 420

350 IF N1=4 GOTO 440

360 LET Y=X

370 GOTO 450

380 LET Y=(F+X)/(F-X)

390 GOTO 450 ‘

400 LET Y=2%¥X%F/(F*%F-
R)

410 GOTO 450 _
420 LET Y=(F*F+R)/(F
¥ F~R) |

430 GOTO 450
440 LET Y=2%X%F/(F%F+
R)
450 RETURN
B
1 %0.25, 0.5, n /4MFTE - E ¥
H, Bln=4, J}ELER,

|
X | 0.25 0.5 0.7853982

sinx | .247404 | .479426 | .707106
COS X .968912 .877583 .707107
tan x .255342 | 546303 | .999999
ex 1.28403 1.64872 2,19328
sinh x| ,252612 | ,521095 '| ,86867
cosh x | 1,03141 | 1.12763 | 1.32461
tan h x .244919 .462117 .655794

FEBF

5 LET N=¢4

' —_—1 —



10 LET X=,25

20 FOR P=1TO 7
30 GOSUB 200
40 PRINT Y

50 NEXT P

51 PRINT

52 PRINT

53 PRINT

60 LET X=.5

70 FOR P=1TO 7
80 GOSUB 200
90 PRINT Y
100 NEXT P

101 PRINT

102 PRINT

103 PRINT

110 LET X =3,14159/4
120 FOR P=1TO 7
130 GOSUB 200
140 PRINT Y
150 NEXT P

160 END

2 EHNRE
— Ihie
EFAMURa +ibfo +idKH,
— fERHEHA
(OHABREKBFNNS H:

A, B, C, D,
(2)ERIWEED, EMWEFH,
= BF

200 IF ABS (C)>=ABS (D)

GOTO 260

210 LET R=C./D

220 LET M=D+R*C

230 LET E=(A*R+B) M
240 LET F=(B*R-A) /M
250 GO TO 300

260 LET R=D/C

—_2 —

270 LET M=C+R*¥D
280 LET E=(CA+B*¥R)> /M

200 LET F=(B-A%R)/M
30 RETURN

18P
T
z= 1-.5101i0+1020i
2,037+ ,%%1 »

CUEHR 2 =2,575,,720+ 0.5, 1"

xR CA=1.5,,"% B=,%
C=210é’7> D=1029)

10 INPUT A,B,C,D

15 PRINT '

20 GOSUB 200

30 PRINT E,F

40 END

3 = (ZAEH)
— Iheg
AEBFAUTE e, Hipz=a+ib,
Z fERES
COBRRBFRHRESD:

A ZHEE

B ZH R
()EREHRT
C LERATE.
D HERNER,
BF
LET C=EXP (A)
LET D=C% SIN (B)
LET C=C#% COS (B)
RETURN
M B
THHE:

20
21
22
23

HRZ=1.92212+1,92211i
ERF (A=1, B=3,141593/4)



10 LET A=1

20 LET B=3,14159/4
30 GOSUB 200

40 PRINT C, D
50 END

4 HBHBREFFR

— ZhEk
AW REFWAERF, B—IBFAU
REHFZ=x+iy WK 2] , BIBEFE
A, BURZEFEHRSZ=2a+ib(H
a>0)o
= #RAEB
(AREEFNNAH.:
X  HABEEEE.
y REBBEHER -
(2)ZER|ZIETCH, AL BTRIF
W ZWEFFIER .
= BF
C1IXRI|Z]
200 LET X=ABS (X)
210 LET Y=ABS (Y)
220 IF X=0 GOTO 270
230 IF Y=0 GOTO 290
240 I F X>Y GOTO 310
250 LET C=Y#*8QR (1+((X/Y)
*(X/YO '
260 GOTO 320
270 LET C=Y
280 GOTO 320
290 LET C=X
300 GOTO 320
310 LET C=X%SQR (1+(Y/
X)42) ,
320 RETURN
(2)RSZ
400 IF X=0 GOTO 480
410 GOSUB 200
420 LET A=SQR ((ABS(X)

+C)/2)
430 I F X>0 GOTO 530
440 IF Y<0 GOTO 470
450 LET B=A
460 LET A=Y/(B+B)
470 GOTO 570
480 IF Y=0 GOTO 500
490 GOTO 410
500 LET A=0
510 LET B=0
520 GOTO 570
530 LET B=Y/(A+A)
540 GOTO 570
550 LET B=-A
560 GO.TO 460
570 RETURN. '
1t IR
B Z=0,1264,,1%+0, 15481015199

AT

THHEER:
|Z] =1.9985,,%*
NZ=1.2772,,7 +6,06011,,°%
EEF (X =0.1264,,'% ¥y =0.154
81015)
10 INPUT X, Y
15 PRINT:
20 GOSUB 200
30 GOSUB 400
40 PRINT A, B, C
50 END

5 AZEEZABRK
— itk
ABRFERLIKRsin Z, cosZ, tanZR
N E¥sinh y, coshy, HthzZz=x
+iy,
Z EAEHE
(DFARERERM A,
X a&!%%‘;o '



- L B s
P EMADREER= SN,

y HERBEH. "

R
‘ si'u(x‘+iy)
cos(X +iy)

MR TR | tan(x +iy)
] sinhy, coshy

(OHUEERGFT
U sin, cos, tan@y 5L #H =
coshy,
v sin, ‘cos, tanf) & I =%
sinhy '

20
21
22

225
230
240
250
260
270
280
290
300
310
320
330

340
350
360
370
380
390
400
410

B
LET YI=EXP (Y)
LET U=,5%(Y1+1/Y1)
IF ABS (Y)>=1 GOTO
410
DIM C(5)
LET C(0)=1,13032
LET C(1)=4.43368E -2
LET C(2)=5.42926 E —4
LET C(3)=3.19844E -6
LET C(4)=1,10361E~8
LET C(5)=2,498E~11
LET B1=0
LET B2=0
LET Y1=2%¥(2%Y %Y -1)
FOR I1=5TQO 0 STEP -1
LET B3=Y1%Bl-B2-C
I
IF 1<>0 GOTO 360
GOTO 380
LET B2= Bl
LET Bl=B3
NEXT 1
LET V=Y%(B3~- B1)
GOTO 420
LET V=,5%(Y1-1/Y1)

— 4

MRS i o >l SE v Sl

420 IF P=1 GOTO 460
430 TF P=2GA3TO 490
440 IF P=3'GOTO 520
450 GOTO 660 -
460 LET U=U% SIN (X)
470 LET V=V#* -C0OS (X)
180 GOTO 660 |
£90 LET U=U% COS (X)
500 LET V==-V%* SIN (X)
510 GOTO 660
520 LET A=U# SIN (X)
530 LET B=V% COS (X)
540 LET Cl=U% COS (X)
550 LET D=-V#* SIN (X)
560 I F ABS (Cl1)>= ABS
(D) GOTO 620
570 LET R=Cl1/D
580 LET N=D+R%Cl
590 LET U=(A%R+B)/N
600 LET V=(B%*R-A)/N
610 GOTO 660
620 LET R=D/Cl
630 LET N=Cl+R*%D
640 LET U=(A+ B*R)/N
650 LET V=(B-~A%R)/N
660 RETURN
M A
RZ=0.25+0.25iFsin Z, cos Z,
tan Z, sinh y, coshy,
HHEER.:
sin Z =0,255175— 0,24476i
cos Z = 0,999349+6,24973,,~2
tan Z = 0,23909 - 0,259871
sinh y= ~0,252613
cosh y =1,03141
ERF (X=0.25 ¥ =0.25)
10 INPUT X, Y
15 PRINT
20 FOR P=1TQ 4



7 %80.¢ JggsuUB220 !
40 PRINT Uy V'« -
50 NEXT P
60 END - -

6 HEABWENEEL
e o
R RS Z = ut, ik

a=a+ib, t=o0+id,

— RS
(AR BEFRNPAN.
A, B JEHEHKEIB.
C, D 1BEHZHRER.
N Lo 27 09 5 %,
N= OB‘T’ *ﬁﬁjﬁ'fi
o
(DH)ERPVELIBSBBIBIRET X,
¥y . :
(3HYEE O, BFITHME ‘FA
1L’ FBEN.
= BF

200 IF A=0 GOTO 290

210 LET P=6,28318%* N+ ATN
( B/A)

220 IF A<O GOTO 240

230 GOTO 310

240 1IF B>=0 GOTO 270

250 LET P=P-3,14159

260 GOTO 310

270 LET P= P +3,14159

280 GOTO 310

290 IF B=0 GOTO 370

300 LET P=1,57079% (S GN(B)
+4% N)

3t0 LET R=,5%# LOG (AxA
+ B% B) ‘

320 LET V=C*P+D#*R

330 LET W=EXP(C%R~-D*P)

340 LET X=W*GCO0OS8.(V)

370 -PRINT

350 LET Y=W%SIN (V)
360 GO TO 380
“FATL Y

330 RETURN:. .~ . -
W f ) E -. ﬁ]ﬁ‘ i

wEz=a+D M lwmyra,

#=R 7 =0,273958+0. 58371 :

*#EEFEA=1, B=1, C=1, D=1,

N=0)

10 INPUT A, B, C, D, N

15 PRINT

20 GOSUB 200

30 PRINT “Z= "4 X; M+ 7y
Y; ‘17

40 END

T AEEEAAK

— Ihsk
ZKEFT‘-%PJJRLnZ,
ib%x0,
— RS
(1) BRAAERFNMAH.
A BEREL .
B HEREN.
(2) BRPNERSERITHETC.
D,
(3)YEERNOF, BFITHH\F
AT L'EEN.
= BF
200 IF A=0 GOTO 460
210 LET E=.,5%A
220 LET F=,5%B
230 IF ABS (E)X)<K.,5 GOTO
280 B
240 LET C=ABS(.5%E)+A
BS (.5% F)
250 LET D=,6%#E/C* E+ ,5%

Ht Z=a+

— G



260

270
280

290

300
310
320
330
340

350
360

370
380
390

—

F/C*%F
LETC—S*(LOG(C)+
LOG(D))+LOG(SQR(8))
GOTO 330

IF ABS (F)<.5G0TO
300

GOTO 240

LET C=ABS (2%¥A)+A
BS (2% B)

LET D= 8*A/C*A+8*B/
C*B \
LETC—A*(LOG(C)+
LOG(D))»=-LOG (SQR
(8)) :
IF A< >0 GoTo 360
LET D=-ATN:(CA/B) +
1,5708% SGN ( B)

GOTO 493 -~

IF ABS (E)>= ABS
(F) GOTO 380.

GOTO 340

IF A> 0 GOTO 420.
IF B>=0 GOTOAM

%

¥
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S

AIEF NS H n A HE 45 P B
FEFER x WHSZNTFELE S, ALk

FHEA
&

—
—_—

YR mAN— IR mBHE 1T B A AT

FEF iR

(DFEAXBRFNRESAH.

N FEZERME.
M HFEAREA B
T IFMEA.

— —

400

410
420
430
440

450
460
470
480
490

LET D= ATN
- 3.14159

GOTO 490
LET D=ATN(B/A)
GOTO 490

LET D= ATN (B/AA) +
3.14159

GOTO 490

IF B=0 GOTO 480
GOTO 210

PRINT *FAILY”
RETURN

(B/AY

Mm-mE
'Vi'ﬁz = - lﬂﬁﬁﬁﬁﬁo
z#ﬁ%%an~—7mew”+&1

41591 -
CEBE(A=-1, B=0) -
10 INPUT A, B
15 PRINT.
20 GOSUB 200
30 PRINT “LOG(Z)= "
Cs “+ " Dy 17"
40 END

(2)%

FIESRERS

X FAX(N), BREEBHT
A,

y BaAy (M, N), Gz
MAL I 2H B .

ERETEHHEF (M) Hi,

(BREFER TRABXITE, B
AR THREFMO THIE DB,

£H60~801EH, BHLET F=y
(I)+U*(}’(I+1)-Y(I));

2%

%#?FWJ(N)ﬁ LB

L RBF
FOR I1=1TO N-2



210 IF T<=%X¢(I+1) GQTO

240 o

220 NEXT I

230 LET I=N-1

240 LET U=¢T-X(CI))/(X
(I+1)-X(C1)>»)

250 FOR T=1TO M .

260 LET FCT)X>=YC(CTJ, 1)
+U*(Y(CTJ,1+1)~-Y(T,

- 1))

270 NEXT 7§

280 RETURN -

M BA
HIBEBE.
i 1 2 3 4
x, 0.1 lo.2 Jo.3 0.4
f,(xy)  0.0998/0,1987|0.2955/0,3894
f.(xy)  [0.99500.9801}0, 95530, 9211

RE (xR (x)FEX = 0,250 I 1E,

HHRER:
f,(0.25) =0.2471
£,(0.25) = 0,9677
FEF(N=4, M=2, T=0,25)
10 INPUT N, M, T

20 PRINT

30 DIM X(N), Y(M, N),

F(N)D

40 FOR 1=1TO N

50 READ X(1I)

60 NEXT I

70 FOR I=1TO M

75 FOR J=1TO N

80 READ Y(C1I, T)
85 NEXT J

990 NEXT I

100 GOSUB 200

110 FOR I1=1TQ M.

120 PRINT F(CI)

130 NEXT. I
- 140 :END o
150 DATA .1, .2, .3 .4, .0998,
.1987, ,2955
- 160 . DA TA ,38%4,
P #9553, .9211

.995, ,9801,

9 —RLZRITE

— Itk

TR A B B N AN A R 5
EFES x ESEATESEA, REH
HEATFEARN i — T RREBFETR
AFFE.

— MEHEH

CHOERARBFN S,

N AEHFESAI%. N>3
M HENEREANE.

T A

X

BHAX(N), HRLBRENT
HER, BERXMx (]
+1), i=1, 2, -, N-1,
y BHAY (M, N)Y, FR%
MALHIm 4 BB E .
()ERGFTFHRAF (M),
(HABFTRTRANREITE, HK
WMTEREBEHEH:
FP120—140iB4), BN
LET FP=U%y(I)+V*y (1l
+1)+W*xy(I+2), EP FHE
T, Yh—HEHAY (N),
= BF
200 FOR I=1TOQO N—3
210 IF T<=X(I+1) GOTO
240
220 NEXT I
230 LET I=N-2
240 IF 1< >1 GOTO 350
250 LET X0=XC(1I)
2600 LET XI=X(I+1)



270 LET X2=X(I+2)

280 LET U=(T-X1) % (T-
X2) /((X0-X1) * (X0~
X2)) o

200 LET V=(T-X0)%(T-
X2)/((X1-X0) % (X1 -
X2))

300 LET W=(T-X0)% (T~
X1)/((X2-X0)*% (X2 -
X1))

310 FQR 7=1.TO M

320 LET F(TI)=U*xY(]T,

ID+V%®Y (T, I+1)4+W
*Y (T, IT+2)° "

330 NEXT 7T

340 GOTO. 390 ~

350 IF T-X(I)D<X(I+1)
GOTO 370

3860 GOT.O 250

370 LET 1=1-1

380 . GOTO 250

390 RETURN ..

M IR
RIERRER
| 1 2‘]3 | 4

X\ 0.1 0.2 0.8 Joud

f(x1)  [0,0998/0.1987/0.29550,3894

f.(x1)  ]0.9950/0.9801(0.9553/0,9211

RE, (x ) ff, (x YHEX =0,25/8

&,

T H 4 F. £(0.25).=0.247362,
f; (0.256) =0,968937, :
EEF(N=4, M=2, T=0,25)

10
15

PRINT .

20 DIM X(N), Y(M, N),

F(M) -

30 FOR I=1TON - .

-—_8 —

40 READ X(1)
50 NEXT 1
60 FOR I1=1TOM
70 FOR 7=1TO N
80 READ Y(1I, 1)
90 NEXT 7
100 NEXT 1
110 GOSUB 200
120 FOR I1=1TO M
130 PRINT F(C1>
140 NEXT I
150 DATA .1, .2, .3, .4, .0998,
.1987, .2955
160 DATA ,3894,  ,995, ,9801,
T 7,9553, L9211,
170 END |
RUNETYS
— ﬁJﬁ‘é
KEFAEEONTESE A RRELRE

EXFMEAL (m<<n ) MgEHE, REgs

R8T A X — FT sk gt

TH1E.
fE F 3 81

(DHFEAARRFN R 2,

(2)

200
210
220

N S A
M muﬂﬁmﬁﬁAﬁ,M<

"n,

T  FEM.

X BAX (N, FRIHES
B, BRX (1)<LX (i
+1 ), i=1, 2 y N
-1,

¥ -ﬁ%y(N),ﬁm%ﬁ%
BB E

ERFET AR,

B

IF M>N-GOTO 260
FOR I1=1.TO N |

I'F T<=X'(I)> GOTO



